
CAUTION: DO NOT EXCEED MAXIMUM LISTED WEIGHT CAPACITY  
(17.6 lb. / 8 kg). SERIOUS INJURY OR PROPERTY DAMAGE MAY OCCUR!

1

PRODUCT  
REGISTRATION
Register your product today for a  
chance to win an ISOBAR® surge  
protector in our monthly drawing!
Tripplite.Eaton.com/warranty

Single-Display Sit-Stand  
Desk-Mount Workstation

Model: WWSS1332C

Español	 11
Français	 21
Русский	 31
Deutsch	 41



A

F

K

P

U

B

G

L

Q

D

I

N

S

E

J

O

T

W

C

H

M

R

V

Bracket Arm
x1

Cable Clamp 
x1

M6 x 12
x4

M5 x 16
x4

4 mm Hex Key
x1

Support Mast
x1

Grommet 
Mount Plate

x1

M8 x 25
x2

5 x 12 x 1
x4

Keyboard Shelf
x1

Pressure Plate
x2

M4 x 12
x4

D8
x2

6 mm Hex Key
x1

Clamp Top
x1

M8 x 105
x2

M5 x 12 
x4

8 x 5 Spacer 
x4

Clamp Bottom
x1

M6 x 10
x4

M4 x 16
x4

M8
x2

Wrench
x1

IMPORTANT: Ensure all parts according to the component checklist have  
been received prior to installation. If any parts are missing or faulty, visit  
Tripplite.Eaton.com/support for service.

2

Component Checklist



or

Note: For instructions on Grommet Mount Assembly, go to page 5.

D

E

U

U

J

K

x4

x4

J

A

E
K

3/8 to 2” 
(10 to 55 mm)

1 1/2 to 3 9/16”      
(40 to 92 mm)

The WWSS1332C Single-Display Sit-Stand Workstation offers two different mounting methods: 
by desk clamp or by grommet mount. For easy and convenient installation and removal, use 
the desk clamp mounting option. For a permanent mounting solution, use the grommet 
mounting option.

Desk Clamp Assembly – Follow steps 1a-1 to 1a-4 below.

Grommet Mount – Go to page 5 and follow steps 1b-1 to 1b-2.

Step 2 for both mounting options begins on page 6.

1

2

U

U

D

3

Desk Clamp Assembly Option



F

F

To proceed with step 2 of assembly, go to page 6.

1a-3

1a-4

4

Desk Clamp Assembly Option



G UJI
x4x2

H WTR
x2 x2 x2

A

J

I

W
R

T

3/8 to 3” 
(10 to 80 mm)

To proceed with step 2 of assembly, go to page 6.

Note: For instructions on Clamp Assembly, go to page 3.

U

G

H

1b-1

1b-2

5

Grommet Mount Assembly Option



Remove VESA Plate from Support Mast

Attach Keyboard Shelf 
to Support Mast

K VUL
x2 x2

V

K

L

2

3

U

6

Desk Clamp/Grommet Mount Assembly



Attach Keyboard Shelf and Support 
Mast Assembly to Bracket Arm

Attach 
VESA 
plate to 
back of 
display

U

3/16” (5 mm)

TVTV

TVTV

M P Q SON
x4 x4 x4 x4x4x4

M ON
Q Q

S

Por or

Note: Firmly secure the VESA plate to the display using the appropriate screws, washers and 
spacers (if necessary). 

Do not over-tighten screws.

4

5

U

U

7

Desk Clamp/Grommet Mount Assembly



Slide VESA plate and Display on to the Support Mast

Adjust Bracket Arm tension

V
V

Using an assistant or mechanical lifting equipment, lift the display with attached VESA plate. 
Slide the VESA plate over the Support Mast bracket. Reattach the top knob to secure the  
VESA mount (removed in step 1).

Keep the bracket arm level during tension adjustment. You may need to slightly loosen or 
tighten the adjustment screw using the provided 6 mm Hex Key, depending on the weight of 
display installed.
If display settles on its own, rotate adjustment screw towards the “+” symbol.
If display rises on its own, rotate adjustment screw towards the “-” symbol. 

6

7

8

Desk Clamp/Grommet Mount Assembly



Adjust to the desired location or tilt

  +4°    -4°    

+15°

-15°

U V

To correct the tilting angle, tighten the adjustment screws using the provided Hex Keys (or 
tighten the knob).

Maintenance
•	 Check that the bracket is secure and safe to use at regular intervals  

(at least every three months). 
•	 Please visit Tripplite.Eaton.com/support if you have any questions.

V

8

U

9

Desk Clamp/Grommet Mount Assembly



5-Year Limited Warranty
We warrant our products to be free from defects in materials and workmanship for a period of five (5) years from the date of initial purchase. Our 
obligation under this warranty is limited to repairing or replacing (at its sole option) any such defective products. Visit Tripplite.Eaton.com/support/
product-returns before sending any equipment back for repair. This warranty does not apply to equipment which has been damaged by accident, 
negligence or misapplication or has been altered or modified in any way.
EXCEPT AS PROVIDED HEREIN, WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, INCLUDING WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A 
PARTICULAR PURPOSE. Some states do not permit limitation or exclusion of implied warranties; therefore, the aforesaid limitation(s) or exclusion(s) may 
not apply to the purchaser.
EXCEPT AS PROVIDED ABOVE, IN NO EVENT WILL EATON BE LIABLE FOR DIRECT, INDIRECT, SPECIAL, INCIDENTAL OR CONSEQUENTIAL DAMAGES 
ARISING OUT OF THE USE OF THIS PRODUCT, EVEN IF ADVISED OF THE POSSIBILITY OF SUCH DAMAGE. Specifically, we are not liable for any costs, 
such as lost profits or revenue, loss of equipment, loss of use of equipment, loss of software, loss of data, costs of substitutes, claims by third parties, or 
otherwise.

PRODUCT REGISTRATION
Visit Tripplite.Eaton.com/warranty today to register your new product. You’ll be automatically entered into a drawing for a chance to win a FREE Eaton 
Tripp Lite series product!*
*No purchase necessary. Void where prohibited. Some restrictions apply. See website for details.

Eaton has a policy of continuous improvement. Specifications are subject to change without notice.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
United States
Eaton.com

© 2023 Eaton
All Rights Reserved
Publication No. 23-06-146 / 93-3778_RevB / GG 
November 2023

Eaton is a registered trademark.

All trademarks are property  
of their respective owners.

10

Warranty and Product Registration



PRECAUCIÓN: NO EXCEDA LA CAPACIDAD MÁXIMA DE CARGA INDICADA 
(8 kg). ¡PUEDE OCURRIR UNA LESIÓN SEVERA O DAÑO A LA PROPIEDAD!

11

Estación de Trabajo de Altura  
Variable para Una Pantalla para  
Instalación en Escritorio

Modelo: WWSS1332C

English	 1
Français	 21
Русский	 31
Deutsch	 41



A

F

K

P

U

B

G

L

Q

D

I

N

S

E

J

O

T

W

C

H

M

R

V

Brazo de 
Soporte 

x1

Abrazadera de 
Cable  
x1

M6 x 12
x4

M5 x 16
x4

Llave 
Hexagonal de 

4 mm 
x1

Mástil de 
Soporte 

x1

Placa para 
Instalación con 

Orificio Pasa Cables 
x1

M8 x 25
x2

5 x 12 x 1
x4

Repisa para 
Teclado 

x1

Placa de 
Presión 

x2

M4 x 12
x4

D8
x2

Llave 
Hexagonal de 

6 mm 
x1

Parte 
Superior de la 

Abrazadera 
x1

M8 x 105
x2

M5 x 12 
x4

Espaciador de 
8 x 5  
x4

Parte 
Inferior de la 
Abrazadera 

x1

M6 x 10
x4

M4 x 16
x4

M8
x2

Llave
x1

IMPORTANTE: Asegúrese antes de instalar, de haber recibido todas las partes de 
acuerdo a la lista de comprobación de componentes. Si faltase cualquier parte  
o estuviese dañada, visite Tripplite.Eaton.com/support para solicitar servicio.

12

Lista de Comprobación de Componentes



o

Nota: Para instrucciones sobre la instalación por Orificio Pasa Cables, vaya a la página 15.

D

E

U

U

J

K

x4

x4

J

A

E
K

10 a 55 mm 40 a 92 mm

La Estación de Trabajo de Altura Variable para Una Pantalla WWSS1332C ofrece dos 
diferentes métodos de instalación: por abrazadera de escritorio o por Orificio Pasa Cables. 
Para instalación y remoción fácil y cómoda, use la opción de instalación con abrazadera de 
escritorio. Para una solución de instalación permanente, use la opción de instalación por 
Orificio Pasa Cables.

Ensamble con Abrazadera de Escritorio – Siga los pasos 1a-1 a 1a-4 siguientes.

Instalación por Orificio Pasa Cables – Vaya a la página 15 y siga los pasos 1b-1 a 1b-2.

Paso 2 para ambas opciones de instalación inicie en la página 16.

1

2

U

U

D

13

Opción con Abrazadera de Escritorio



F

F

Para proceder con el paso 2 del ensamble, vaya a la página 16.

1a-3

1a-4

14

Opción con Abrazadera de Escritorio



G UJI
x4x2

H WTR
x2 x2 x2

A

J

I

W
R

T

10 a 80 mm

Para proceder con el paso 2 del ensamble, vaya a la página 16.

Nota: Para instrucciones sobre la instalación por abrazadera, vaya a la página 13.

U

G

H

1b-1

1b-2

15

Opción de Instalación por Orificio Pasa Cables



Retire la Placa VESA del Mástil de Soporte

Coloque la Repisa para Teclado 
en el Mástil de Soporte

K VUL
x2 x2

V

K

L

2

3

U

16

Conjunto de Instalación por Orificio Pasa  
Cables / Abrazadera de Escritorio



Coloque el Conjunto de la Repisa para Teclado y 
el Mástil de Soporte en el Brazo de Soporte

Coloque la 
placa VESA 
a la parte 
posterior 
de la 
pantalla

U

5 mm

TVTV

TVTV

M P Q SON
x4 x4 x4 x4x4x4

M ON
Q Q

S

Po o

Nota: Asegure firmemente la placa VESA a la pantalla usando los tornillos, arandelas y 
espaciadores apropiados (si fuera necesario).

No apriete excesivamente los tornillos.

4

5

U

U

17

Conjunto de Instalación por Orificio Pasa  
Cables / Abrazadera de Escritorio



Deslice la placa VESA y la Pantalla en el Mástil de Soporte

Ajuste la tensión del Brazo de Soporte

V
V

Usando un ayudante o equipo de elevación mecánico, levante la pantalla con la placa VESA 
acoplada. Deslice la placa VESA sobre la Ménsula del Mástil de Soporte. Reinstale la perilla 
superior para sujetar el soporte VESA (retirados en el paso 1).

Mantenga nivelado el brazo del soporte de pared durante el ajuste de la tensión. Puede 
necesitar apretar o aflojar ligeramente el tornillo de ajuste con la llave hexagonal de 6 mm 
suministrada, dependiendo del peso de la pantalla instalada.
Si la pantalla se baja por sí misma, gire el tornillo de ajuste hacia el símbolo “+”.
Si la pantalla se levanta por sí misma, gire el tornillo de ajuste hacia el símbolo “-”.

6

7

18

Conjunto de Instalación por Orificio Pasa  
Cables / Abrazadera de Escritorio



Ajuste a la posición o inclinación deseada

  +4°    -4°    

+15°

-15°

U V

Para corregir el ángulo de inclinación, apriete el tornillo de ajuste usando las llaves  
hexagonales suministradas (o apriete la perilla).

Mantenimiento
•	 Compruebe a intervalos regulares (al menos cada tres meses) que el soporte esté  

seguro para usarse.
• 	 Si tiene alguna pregunta, visite por favor a Tripplite.Eaton.com/support.

V

8

U

19

Conjunto de Instalación por Orificio Pasa  
Cables / Abrazadera de Escritorio



GARANTÍA LIMITADA DE 5 AÑOS
Garantizamos por cinco (5) años a partir de la fecha de compra inicial que nuestros productos no presentan defectos de materiales ni de mano de 
obra. Nuestra obligación bajo esta garantía está limitada a la reparación o reemplazo (a su entera discreción) de cualquier producto defectuoso. Antes 
de devolver cualquier equipo para reparación, visite Tripplite.Eaton.com/support/product-returns. Esta garantía no se aplica a equipos que hayan sido 
dañados por accidente, negligencia o mal uso, o hayan sido alterados o modificados de alguna manera.
EXCEPTO COMO SE INDICA EN EL PRESENTE, EATON NO OFRECE GARANTÍAS EXPRESAS O IMPLÍCITAS, INCLUIDAS GARANTÍAS DE COMERCIABILIDAD 
Y ADECUACIÓN PARA UN DETERMINADO PROPÓSITO. Algunos estados no permiten la limitación o exclusión de garantías implícitas; por lo tanto, las 
limitaciones o exclusiones antes mencionadas pueden no aplicarse al comprador.
SALVO POR LO INDICADO ANTERIORMENTE, EN NINGÚN CASO EATON ASUMIRÁ RESPONSABILIDAD POR DAÑOS DIRECTOS, INDIRECTOS, ESPECIALES, 
INCIDENTALES O EMERGENTES QUE SURJAN COMO RESULTADO DEL USO DE ESTE PRODUCTO, INCLUSO SI SE ADVIERTE SOBRE LA POSIBILIDAD DE 
TAL DAÑO. Específicamente, no somos responsables por ningún costo, como pérdida de ganancias o ingresos, pérdida de equipos, pérdida del uso de 
equipos, pérdida de software, pérdida de datos, costos de sustituciones, reclamos de terceros o de cualquier otra forma.

Eaton tiene una política de mejora continua. Las especificaciones están sujetas a cambio sin previo aviso.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
Estados Unidos
Eaton.com

© 2023 Eaton
Todos los derechos reservados
Publicación No. 23-06-146 / 93-3778_RevB / GG 
Noviembre 2023

Eaton es una marca registrada.

Todas las marcas registradas son 
propiedad de sus respectivos 
propietarios.

20

Garantía



MISE EN GARDE : NE PAS EXCÉDER LA CAPACITÉ PONDÉRALE MAXIMUM 
INDIQUÉE (8 kg). DES BLESSURES GRAVES OU DES DOMMAGES 
MATÉRIELS RISQUENT DE SE PRODUIRE!

21

Station de travail à montage sur  
bureau assis-debout à un seul écran

Modèle : WWSS1332C

English	 1
Español	 11
Русский	 31
Deutsch	 41



A

F

K

P

U

B

G

L

Q

D

I

N

S

E

J

O

T

W

C

H

M

R

V

Bras du support  
x1

Bride de câble  
x1

M6 x 12
x4

M5 x 16
x4

Clé 
hexagonale de 

4 mm  
x1

Mât de support 
x1

Plaque de 
montage passe-fils  

x1

M8 x 25
x2

5 x 12 x 1
x4

Étagère du 
clavier 

x1

Plaque de 
pression 

x2

M4 x 12
x4

D8
x2

Clé 
hexagonale de 

6 mm 
x1

Bride 
supérieure 

x1

M8 x 105
x2

M5 x 12 
x4

Entretoise  
8 x 5 
x4

Bride 
inférieure 

x1

M6 x 10
x4

M4 x 16
x4

M8
x2

Clé 
x1

IMPORTANT :  Veuillez vous assurer d’avoir reçu toutes les pièces conformément 
à la liste de vérification des composants avant de procéder à l’installation. Si des 
pièces sont manquantes ou défectueuses, visitez Tripplite.Eaton.com/support 
pour obtenir de l’aide.

22

Liste de vérification des composants



ou

Remarque : Pour des instructions sur l’assemblage par montage passe-fils, aller à la page 25.

D

E

U

U

J

K

x4

x4

J

A

E
K

10 à 55 mm 40 à 92 mm

La station de travail assis-debout à un seul écran WWSS1332C offre deux méthodes de 
montage différentes : par bride pour bureau ou par montage passe-fils. Pour une installation 
et un retrait simples et pratiques, utiliser l’option de montage par bride pour bureau. Pour une 
solution de montage permanente, utiliser l’option de montage passe-fils.

Ensemble de la bride pour bureau – Suivre les étapes 1a-1 à 1a-4 ci-dessous

Montage passe-fils – Aller à la page 25 et suivre les étapes 1b-1 à 1b-2.

L’étape 2 pour les deux options de montage commence à la page 26.

1

2

U

U

D

23

Option d’assemblage avec bride pour bureau



F

F

Pour passer à l’étape 2 de l’assemblage, aller à la page 26.

1a-3

1a-4

24

Option d’assemblage avec bride pour bureau



G UJI
x4x2

H WTR
x2 x2 x2

A

J

I

W
R

T

10 à 80 mm

Pour passer à l’étape 2 de l’assemblage, aller à la page 26.

Remarque : Pour des instructions sur l’assemblage par bride, aller à la page 23.

U

G

H

1b-1

1b-2

25

Option d’assemblage par montage passe-fils



Retirer la plaque VESA du mât du support

Fixer l’étagère du clavier 
au mât de support

K VUL
x2 x2

V

K

L

2

3

U

26

Assemblage avec bride pour bureau/ 
montage passe-fils



Fixer l’étagère du clavier et l’ensemble du mât 
de support au bras de support

Fixer la 
plaque 
VESA à 
l’arrière de 
l’écran

U

5 mm

TVTV

TVTV

M P Q SON
x4 x4 x4 x4x4x4

M ON
Q Q

S

Pou ou

Remarque : Attacher fermement la plaque VESA à l’écran en utilisant les vis, les rondelles et 
les entretoises (au besoin).

Ne pas trop serrer les vis.

4

5

U

U

27

Assemblage avec bride pour bureau/ 
montage passe-fils



Glisser la plaque VESA et l’écran sur le mât de support

Régler la tension du bras de support

V
V

Faire appel à un assistant ou utiliser de l’équipement de levage mécanique pour soulever 
l’écran avec la plaque VESA déjà en place. Glisser la plaque VESA sur le support de mât de 
support. Rattacher le bouton supérieur pour sécuriser le montage VESA (retiré à l’étape 1).

Garder le bras de montage mural au niveau durant le réglage de la tension. Il peut s’avérer  
nécessaire de desserrer ou de serrer légèrement la vis de réglage en utilisant la clé  
hexagonale de 6 mm fournie en fonction du poids de l’écran installé
Si l’écran s’abaisse de lui-même, tourner la vis de réglage vers le symbole « + ».
Si l’écran monte de lui-même, tourner la vis de réglage vers le symbole « - ».

6

7

28

Assemblage avec bride pour bureau/ 
montage passe-fils



Régler à l’endroit et selon l’angle désirés

  +4°    -4°    

+15°

-15°

U V

Pour corriger l’angle d’inclinaison, serrer la vis de réglage au moyen des clés hexagonales 
fournies (ou serrer le bouton).

Entretien
•	 Vérifier à intervalles réguliers que le support peut être utilisé de façon sûre et sécuritaire  

(au moins tous les trois mois).
•	 Veuillez visiter Tripplite.Eaton.com/support si vous avez des questions.

V

8

U

29

Assemblage avec bride pour bureau/ 
montage passe-fils



GARANTIE LIMITÉE DE 5 ANS
Nous garantissons que nos produits sont exempts de vices de matériaux et de fabrication pendant une période de cinq (5) ans à partir de la date 
d’achat initiale. Notre responsabilité, en vertu de la présente garantie, se limite à la réparation ou au remplacement (à sa seule discrétion) de ces 
produits défectueux. Visiter Tripplite.Eaton.com/support/product-returns avant d’envoyer de l’équipement pour réparation. Cette garantie ne s’applique 
pas au matériel ayant été endommagé suite à un accident, à une négligence ou à une application abusive, ou ayant été altéré ou modifié d’une façon 
quelconque.
SAUF INDICATION CONTRAIRE DANS LES PRÉSENTES, EATON N’ÉMET AUCUNE GARANTIE, EXPRESSE OU TACITE, Y COMPRIS DES GARANTIES DE 
QUALITÉ COMMERCIALE ET D’ADAPTATION À UN USAGE PARTICULIER. Certains États n’autorisant pas la limitation ni l’exclusion de garanties tacites, les 
limitations ou exclusions susmentionnées peuvent ne pas s’appliquer à l’acheteur.
À L’EXCEPTION DES DISPOSITIONS CI-DESSUS, EATON NE POURRA EN AUCUN CAS ÊTRE TENUE RESPONSABLE DE DOMMAGES DIRECTS, INDIRECTS, 
SPÉCIAUX, FORTUITS OU CONSÉCUTIFS RÉSULTANT DE L’UTILISATION DE CE PRODUIT, MÊME SI AYANT ÉTÉ AVISÉE DE L’ÉVENTUALITÉ DE TELS 
DOMMAGES. Plus précisément, nous ne pourrons être tenus responsables de coûts, tels que perte de bénéfices ou de recettes, perte de matériel, 
impossibilité d’utilisation du matériel, perte de logiciel, perte de données, frais de produits de remplacement, réclamations d’un tiers ou autres.

La politique d’Eaton en est une d’amélioration continue. Les caractéristiques techniques sont modifiables sans préavis.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
United States
Eaton.com

© 2023 Eaton
Tous droits réservés.
Publication n° 23-06-146 / 93-3778_RevB / GG 
Novembre 2023

Eaton est une marque déposée.

Toutes les marques de commerce 
sont la propriété de leurs 
propriétaires respectifs.

30

Garantie



ВНИМАНИЕ! НЕ ПРЕВЫШАЙТЕ МАКСИМАЛЬНО ДОПУСТИМЫЙ ВЕС 
(8 кг). ЭТО МОЖЕТ ПРИЧИНИТЬ СУЩЕСТВЕННЫЙ ВРЕД ЗДОРОВЬЮ 
ЛЮДЕЙ ИЛИ МАТЕРИАЛЬНЫЙ УЩЕРБ!

31

Настольная рабочая станция с  
регулируемой высотой на один дисплей

МОДЕЛЬ: WWSS1332C

English	 1
Español	 11
Français	 21
Deutsch	 41



A

F

K

P

U

B

G

L

Q

D

I

N

S

E

J

O

T

W

C

H

M

R

V

Рычаг 
кронштейна  

1 шт.

Зажим для 
крепления 
кабеля 
1 шт.

M6 x 12
4 шт.

M5 x 16
4 шт.

Шестигранный 
ключ на 4 мм  

1 шт.

Опора
1 шт.

Монтажная пластина 
с изолирующей 

втулкой   
1 шт.

M8 x 25
2 шт.

5 x 12 x 1
4 шт.

Полка для 
клавиатуры 

1 шт.

Прижимная 
пластина  
2 шт.

M4 x 12
4 шт.

D8
2 шт.

Шестигранный 
ключ на 6 мм 

1 шт.

Верхний 
элемент 
зажима 
1 шт.

M8 x 105
2 шт.

M5 x 12 
4 шт.

Проставка 8 x 5  
4 шт.

Нижний 
элемент 
зажима 
1 шт.

M6 x 10
4 шт.

M4 x 16
4 шт.

M8
2 шт.

Гаечный ключ 
1 шт.

ВНИМАНИЕ! Перед началом установки убедитесь в том, что вами получены 
все детали согласно перечню комплектации. В случае отсутствия или 
повреждения каких-либо деталей обратитесь за помощью на страницу 
Tripplite.Eaton.com/support.

32

Перечень комплектации



4 шт.

4 шт.

Примечание. Указания по сборке кронштейна с изолирующей втулкой см. на стр. 35.

D

E

U

U

J

K

J

A

E
K

10 до 55 мм 40 до 92 мм

Рабочая станция с регулируемой высотой на один дисплей (мод. WWSS1332C) 
предполагает два различных типа монтажа: с помощью зажима для крепления к столу 
или кронштейна с изолирующей втулкой. Для простоты и удобства установки и снятия 
используйте вариант с зажимом для крепления к столу. Для монтажа на длительное время 
без снятия используйте вариант с изолирующей втулкой.

Сборный зажим для крепления к столу: выполните действия 1a-1 — 1a-4 
представленные ниже.

Кронштейн с изолирующей втулкой: перейдите на стр. 35 и выполните действия 
1b-1 — 1b-2.

Шаг 2 для обоих вариантов монтажа начинается на стр. 36.

1

2

U

U

D

или

33

Вариант монтажа с использованием  
сборного зажима для крепления к столу



F

F

Для выполнения шага 2 процесса сборки перейдите на стр. 36.

1a-3

1a-4

34

Вариант монтажа с использованием 
сборного зажима для крепления к столу



4 шт.2 шт.

2 шт. 2 шт. 2 шт.

G UJI

H WTR

A

J

I

W
R

T

10 до 88 мм

Для выполнения шага 2 процесса сборки перейдите на стр. 36.

Примечание. Указания по сборке зажима см. на стр. 33.

U

G

H

1b-1

1b-2

35

Вариант монтажа с использованием сборно-
го кронштейна с изолирующей втулкой



2 шт. 2 шт.

Отсоедините пластину VESA от опоры

Прикрепите полку для 
клавиатуры к опоре

K VUL

V

K

L

2

3

U

36

Сборка зажима для крепления к столу /  
кронштейна с изолирующей втулкой



4 шт. 4 шт. 4 шт. 4 шт. 4 шт. 4 шт.

Прикрепите полку для клавиатуры с опорой к 
рычагу кронштейна

При-
крепите 
пластину 
VESA к 
задней 
панели 
дисплея

U

5 мм

TVTV

TVTV

M P Q SON

M ON
Q Q

S

P

Примечание. Плотно прикрепите пластину VESA к дисплею с использованием 
соответствующих винтов, шайб и распорок (при необходимости)

Не перетягивайте винты.

4

5

U

U

илиили

37

Сборка зажима для крепления к столу /  
кронштейна с изолирующей втулкой



Наденьте пластину VESA с дисплеем на опору

Отрегулируйте усилие затяжки рычага кронштейна

VV

Обратившись за помощью или воспользовавшись механическим подъемным обо-
рудованием, поднимите дисплей с прикрепленной к нему пластиной VESA Наденьте 
пластину VESA поверх держателя опоры. Заверните верхнюю регулировочную головку 
(вывернутую на шаге 1) для фиксации кронштейна VESA.

В процессе регулировки затяжки сохраняйте уровень расположения кронштейна. При 
помощи торцевого ключа соответствующего размера слегка ослабьте или затяните 
регулировочный винт в зависимости от веса дисплея.
В случае самопроизвольного опускания дисплея поверните регулировочный винт по 
направлению к значку “+”.
В случае самопроизвольного поднятия дисплея поверните регулировочный винт по  
направлению к значку “-”.

6

7

38

Сборка зажима для крепления к столу /  
кронштейна с изолирующей втулкой



Установите в нужное положение или под 
нужным углом

  +4°    -4°    

+15°

-15°

U V

Для корректировки угла наклона затяните регулировочные винты с помощью шести-
гранных ключей, поставляемых в комплекте (или затяните регулировочную головку).

Техническое обслуживание
•	 Регулярно (не реже, чем раз в три месяца) проверяйте надежность крепления 
кронштейна и безопасность его использования.

•	 В случае возникновения каких-либо вопросов приглашаем вас посетить страницу  
Tripplite.Eaton.com/support

V

8

U

39

Сборка зажима для крепления к столу /  
кронштейна с изолирующей втулкой



OГРАНИЧЕННАЯ ГАРАНТИЯ СРОКОМ 5 ГОДA
Наша компания гарантирует отсутствие дефектов материалов и изготовления в течение пяти (5) лет с даты первоначальной покупки. 
Oбязательства компании по настоящей гарантии ограничиваются ремонтом или заменой (по ее единоличному усмотрению) любых таких 
дефектных изделий. Перед возвратом оборудования для проведения ремонта ознакомьтесь с информацией на странице Tripplite.Eaton.com/
support/product-returns. Действие настоящей гарантии не распространяется на оборудование, поврежденное в результате аварии, небрежного 
обращения или неправильного использования, а также видоизмененное каким бы то ни было образом.
ЗА ИСКЛЮЧЕНИЕМ ПРЕДУСМОТРЕННЫХ ЗДЕСЬ СЛУЧАЕВ КОМПАНИЯ EATON НЕ ПРЕДОСТАВЛЯЕТ КАКИХ-ЛИБО ЯВНЫХ ИЛИ ПОДРАЗУМЕВАЕМЫХ 
ГАРАНТИЙ, ВКЛЮЧАЯ ГАРАНТИИ КОММЕРЧЕСКОЙ ПРИГОДНОСТИ И ПРИГОДНОСТИ ДЛЯ КАКОЙ-ЛИБО КОНКРЕТНОЙ ЦЕЛИ. B некоторых 
штатах/государствах ограничение или исключение подразумеваемых гарантий не допускается; следовательно, вышеуказанное(-ые) 
ограничение(-я) или исключение(-я) могут не распространяться на покупателя.
ЗА ИСКЛЮЧЕНИЕМ ПРЕДУСМОТРЕННЫХ ВЫШЕ СЛУЧАЕВ КОМПАНИЯ TRIPP LITЕ НИ ПРИ КАКИХ ОБСТОЯТЕЛЬСТВАХ НЕ НЕСЕТ 
ОТВЕТСТВЕННОСТИ ЗА ПРЯМЫЕ, КОСВЕННЫЕ, CЛУЧАЙНЫЕ ИЛИ ПОБОЧНЫЕ УБЫТКИ ЛИБО УБЫТКИ, ОПРЕДЕЛЯЕМЫЕ ОСОБЫМИ 
ОБCТОЯТЕЛЬСТВАМИ, ВОЗНИКАЮЩИЕ В СВЯЗИ С ИСПОЛЬЗОВАНИЕМ ДАННОГО ИЗДЕЛИЯ, ДАЖЕ В CЛУЧАЕ ЕЕ ИНФОРМИРОВАНИЯ О 
ВОЗМОЖНОCТИ НАСТУПЛЕНИЯ ТАКИХ УБЫТКОВ. В частности, мы не несем ответственности за какие-либо издержки, такие как упущенные 
прибыли или доходы, потеря оборудования, потеря возможности использования оборудования, потеря программного обеспечения, потеря 
данных, расходы на заменители, урегулирование претензий третьих лиц и пр.

Eaton постоянно совершенствует свою продукцию. B связи с этим возможно изменение технических характеристик без предварительного 
уведомления.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
Соединенные Штаты Америки
Eaton.com

© 2023 Eaton
Перепечатка запрещается
Публикация № 23-06-146 / 93-3778_RevB / GG 
ноябрь 2023 г.

Eaton является 
зарегистрированным товарным 
знаком.

Все товарные знаки 
являются собственностью 
соответствующих владельцев.

40

Гарантийные обязательства



ACHTUNG: DAS ANGEGEBENE MAXIMALGEWICHT DARF 
NICHT ÜBERSCHRITTEN WERDEN (8 kg). ES KÖNNEN SCHWERE 
KÖRPERVERLETZUNGEN ODER ERHEBLICHE SACHSCHÄDEN EINTRETEN!

41

Arbeitsstation mit Schreibtisch zum  
Sitzen/Stehen für einen Bildschirm

Modell: WWSS1332C

English	 1
Español	 11
Français	 21
Русский	 31



A

F

K

P

U

B

G

L

Q

D

I

N

S

E

J

O

T

W

C

H

M

R

V

Trägerarm  
x1

Kabelklemme  
x1

M6 x 12
x4

M5 x 16
x4

4 mm 
Inbusschlüssel  

x1

Trägermast 
x1

Kabeldurchfüh-
rungs- 

halterungsplatte
x1

M8 x 25
x2

5 x 12 x 1
x4

Tastaturablage
x1

Druckplatte
x2

M4 x 12
x4

D8
x2

6 mm 
Inbusschlüssel 

x1

Klemme oben  
x1

M8 x 105
x2

M5 x 12 
x4

8 x 5 
Abstandshalter

x4

Klemme unten 
x1

M6 x 10
x4

M4 x 16
x4

M8
x2

Schraubenschlüssel
x1

WICHTIG: Überprüfen Sie, ob Sie alle in der Komponentenliste aufgeführten Teile 
erhalten haben, bevor Sie mit der Installation beginnen. Wenn Teile beschädigt 
oder nicht vorhanden sind, besuchen Sie Tripplite.Eaton.com/support.

42

Komponentenliste



Hinweis: Montagehinweise für die Kabeldurchführungshalterung finden Sie auf Seite 45.

D

E

U

U

J

K

x4

x4

J

A

E
K

10 bis 55 mm 40 bis 92 mm

Die Arbeitsstation mit Schreibtisch zum Sitzen/Stehen für einen Bildschirm WWSS1332C bietet 
zwei verschiedene Montageoptionen: Schreibtischklemme oder Kabeldurchführungshalterung. 
Für eine einfache, bequeme Montage und ein ebensolches späteres Entfernen eignet sich 
die Schreibtischklemmenmontage am besten. Für eine dauerhafte Montage ist die Option 
Kabeldurchführungshalterung am besten geeignet.

Schreibtischklemmenmontage – Folgen Sie den untenstehend beschriebenen Schritten 
1a-1 bisà 1a-4.

Kabeldurchführungshalterung – Gehen Sie zu Seite 45 und folgen Sie den Schritten 1b-1 
bisà 1b-2.

Schritt 2 für beide Halterungsoptionen beginnt auf Seite 46.

1

2

U

U

D

oder

43

Montageoption Schreibtischklemme



F

F

Um mit Montageschritt 2 fortzufahren, gehen Sie zu Seite 46.

1a-3

1a-4

44

Montageoption Schreibtischklemme



G UJI
x4x2

H WTR
x2 x2 x2

A

J

I

W
R

T

10 bis 80 mm

Um mit Montageschritt 2 fortzufahren, gehen Sie zu Seite 46.

Hinweis: Montagehinweise für die Klemme finden Sie auf der Seite 43.

U

G

H

1b-1

1b-2

45

Montageoption Kabeldurchführungshalterung



Entfernen Sie die VESA-Platte vom Trägermast

Befestigen Sie die 
Tastaturablage am Trägermast

K VUL
x2 x2

V

K

L

2

3

U

46

Montage der Schreibtischklemme/ 
Kabeldurchführungshalterung



Bringen Sie die Tastaturablage und die 
Trägermastbaugruppe am Trägerarm an

Bringen  
Sie die  
VESA-Platte  
an der  
Rückseite des 
Bildschirms an

U

5 mm

TVTV

TVTV

M P Q SON
x4 x4 x4 x4x4x4

M ON
Q Q

S

Poder oder

Hinweis: Die VESA-Platte unter Verwendung der geeigneten Schrauben, Beilagscheiben und 
Abstandhalter (falls erforderlich) fest am Bildschirm anschrauben.

Die Schrauben nicht überdrehen.

4

5

U

U

47

Montage der Schreibtischklemme/ 
Kabeldurchführungshalterung



Schieben Sie die VESA-Platte und den Bildschirm 
auf den Trägermast

Passen Sie die Spannung des Trägerarms an

VV

Mit Hilfe eines Assistenten oder einer mechanischen Hebevorrichtung den Bildschirm mit der da-
ran befestigten VESA-Platte anheben. Schieben Sie die VESA-Platte über die Trägermasthalterung. 
Bringen Sie den oberen Knopf erneut an, um die VESA-Platte zu befestigen (in Schritt 1 entfernt).

Bei allen Nachzieharbeiten die richtige Stellung des Wandbefestigungsarms beibehalten. Je  
nach Gewicht des montierten Bildschirms kann ein leichtes Lockern oder Nachziehen der  
Einstellschrauben mit dem mitgelieferten 6 mm Inbusschlüssel erforderlich sein.
Wenn sich der Bildschirm selbst ausgleicht, drehen Sie die Einstellschraube in Richtung des 
„+“-Symbols.
Wenn sich der Bildschirm anhebt, drehen Sie die Einstellschraube in Richtung des „-“-Symbols.

6

7

48

Montage der Schreibtischklemme/ 
Kabeldurchführungshalterung



Passen Sie die Position oder Neigung an

  +4°    -4°    

+15°

-15°

U V

Zur Korrektur des Neigungswinkels die Einstellschrauben mit dem mitgelieferten Inbusschlüs-
sel fest ziehen (bzw. den Knopf festdrehen).

Wartung
•  Stellen Sie in regelmäßigen Abständen (mindestens alle drei Monate) sicher, dass die  

Klammer sicher angebracht ist.
•	 Falls Sie Fragen haben, besuchen Sie Tripplite.Eaton.com/support.

V

8

U

49

Montage der Schreibtischklemme/ 
Kabeldurchführungshalterung



5 JAHRE EINGESCHRÄNKTE GARANTIE
Wir garantieren, dass unsere Produkte frei von Material- und Verarbeitungsfehlern sind, und zwar für einen Zeitraum von fünf (5) Jahren ab dem 
Datum des Erstkaufs. Unsere Verpflichtung im Rahmen dieser Garantie beschränkt sich auf die Reparatur oder den Ersatz (nach eigenem Ermessen) 
der fehlerhaften Produkte. Besuchen Sie Tripplite.Eaton.com/support/product-returns, bevor Sie Geräte zur Reparatur zurücksenden. Diese Garantie 
gilt nicht für Geräte, die durch Unfall, Fahrlässigkeit oder falsche Anwendung beschädigt wurden oder in irgendeiner Weise geändert oder modifiziert 
wurden.
MIT AUSNAHME DER HIERIN ENTHALTENEN BESTIMMUNGEN GIBT EATON KEINE GARANTIEN, WEDER AUSDRÜCKLICH NOCH STILLSCHWEIGEND, 
EINSCHLIESSLICH GARANTIEN DER MARKTGÄNGIGKEIT UND EIGNUNG FÜR EINEN BESTIMMTEN ZWECK. Einige Staaten gestatten keine Beschränkung 
oder keinen Ausschluss stillschweigender Gewährleistungen; daher kann es sein, dass die oben genannten Beschränkungen oder Ausschlüsse auf den 
Käufer nicht zutreffen.
MIT AUSNAHME DER OBIGEN BESTIMMUNGEN IST EATON UNTER KEINEN UMSTÄNDEN HAFTBAR FÜR DIREKTE, INDIREKTE, SPEZIELLE, ZUFÄLLIGE 
ODER FOLGESCHÄDEN, DIE SICH AUS DER VERWENDUNG DIESES PRODUKTES ERGEBEN, SELBST WENN AUF DIE MÖGLICHKEIT SOLCHER SCHÄDEN 
HINGEWIESEN WURDE. Insbesondere haften wir nicht für Kosten, wie entgangene Gewinne oder Einnahmen, Verlust von Geräten, Verlust der Nutzung 
von Geräten, Verlust von Software, Datenverlust, Kosten für Ersatzprodukte, Ansprüche Dritter oder anderes.

Eaton hat den Grundsatz, sich kontinuierlich zu verbessern. Spezifikationen können ohne Ankündigung geändert werden.

Eaton
1000 Eaton Boulevard
Cleveland, OH 44122
Vereinigte Staaten
Eaton.com

© 2023 Eaton
Alle Rechte vorbehalten.
Veröffentlichung Nr. 23-06-146 / 93-3778_RevB / GG 
November 2023

Eaton ist eine eingetragene 
Handelsmarke.

Alle Marken sind Eigentum der 
jeweiligen Inhaber.

50

Garantie


